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Choose the best choice for each blank. 

 

1. Their continuing success means that they will need to …………… more staff over the 

coming year. More people need to be employed. 

a. modify            b. hire           c. reduce          d. accommodate  

 

2. They need to see a(n) …………… before they make a big mistake . 

 a. consultant        b. manager         c. operator          d. change agent   

 

3. He has been …………… in rank for failing to do his work. 

a. reducible           b. reduced        c. reductively        d. reductive 

 

4. Because of many different …………… in trade world , he decided to leave it. 

a. profits         b. pioneers         c. barriers         d. services 

 

5. Because of the current …………… in the property market , the rate of unemployment has 

increased . 

a. stagnation         b. stability        c. breakthrough         d. longevity 

 

6. The manager made a careful …………… of employees' performance. 

a. confrontation         b. collaboration         c. transaction         d. exploration 

 

7. He is a retired person. He receives his …………… from the government. 

a. expenditure         b. compensation         c. payroll        d. pension 
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8. The merger of two companies would create the world biggest firm. “Merger”  means 

…………… . 

a. creating         b. combination        c. development        d. designation 

 

9. An action taken in advance to avoid danger or to prevent problem is called …………… . 

a. precaution          b. remedial           c. compensation        d. curing 

 

10. Many countries sell …………… goods abroad. 

a. manufactured        b. manufactural      c. manufacturing    d. manufactureble 

 

11. Creativity is defined as a newly …………… idea. It was not used in the past. 

a. translated          b. generated          c. challenged        d. encouraged 

 

12. To separate the different elements from oil, we need to …………… it. 

a. refine            b. reduce         c. modify        d. retrieve  

 

13. The …………… property market is making it very difficult for many people to sell their 

houses. 

a. stagnate            b. stagnation         c. stagnantly         d. stagnant 

 

14. It always …………… me how someone so intelligent could do such stupid things. 

a. integrates          b. retrieves          c. intrigues           d. exposes 

 

15. An important development or discovery that helps to provide an answer to a problem is 

called …………… . 

a. breakthrough          b. expertise           c. facilitate        d. modification 
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16. Computers are used to store and …………… information efficiently. 

a. research         b. refine          c. retrieve          d. reduce 

 

17. Their company keeps the …………… of all prices. They do not change a lot. 

a. stagnation             b. destructive          c. rate            d. stability 

 

18. The company needs to return to …………… extremely soon. They have to pay for 

expenses. 

a. distribution          b. profitability          c. staffing         d. performance 

 

19. The …………… meeting between our manager and the employees was very effective. 

a. empowerment        b. remedial        c. widespread         d. confrontation 

 

20. A supply of something for use or sale is called …………… . 

a. stock           b. pay           c. compensation         d. severance 

 

21. Some experts think that government 's …………… is useful to reduce the prices. 

a. exploitation          b. diagnosis          c. intervention        d. merger 

 

22. His knowledge encompasses all aspects of the business. “Encompass”  means: 

a. include           b. exploit          c. obscure         d. initiate 

 

23. The new …………… fail to accommodate the company. They need to change their ways. 

a. goods          b. policies        c. effects         d. services 

 

24. There must be a perfectly …………… explanation for what happened. It should be based 

on logic. 

a. interpersonal           b. flexible            c. stubborn          d. rational 
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25. The survival of any organization depends on its ……………………. . 

a. process and method                           b. services and products 

c. creativity and innovation                   d. competitions and competitors 

 

26. He seems to have undergone a change of …………… recently. 

a. sequence         b. modification        c. attitude            d. coordination 

 

27. He attributed his …………… to two factors- having exercise and not smoking. 

a. authority             b. longevity          c. stagnation          d. operation 

 

28. Some workers were …………… from speaking by the presence of managers. 

a. changed        b. employed        c. inhibited          d. motivated 

 

29. They have tried to take the …………… in dealing with the problem. No one else has 

done it before. 

a. initiative          b. risk         c. stability            d. performance 

 

30. …………… techniques for the working conditions are improving all the time.  

a. Diagnose          b. Diagnosis         c. Diagnostic         d. Diagnostically   


